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Abstract

The present paper is an endeavor to highlight the impacts of current 
account and capital account on CNX Nifty and BSE 100. The study is 
purely based on secondary data. The analysis of which was made 
through the application of Karl Pearson's   coefficient of Correlation 
and Multiple Regression. The study found that the current account 
(CAD) is the most important predictor of CNX Nifty with R square 
values of .596 and the impact of capital account is more important in 
case of BSE 100 with R square values of .699. Though, the current 
account is a significant factor for all outcome variables yet its impact 
on CNX Nifty has been greater than other  outcomes; and the aggregate 
impact of all the predictors jointly showed more impact on CNX Nifty 
(R2change= 69.5 per cent)than other outcome variables. It was further 
indicated through the results that if all the two selected independent 
factors remain constant, then also there are other factors as well which 
explain CNX Nifty and BSE 100  up to 1649.480 and 2336.893  units.
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Table 3(a) & 3(b) exposed the strength of relationship (Capital Account ) is included as well, the value increases to 
between the model and the dependent variables. .699 or 69.9 percent. Therefore, if current account accounts 

for 20 per cent variations, we can say that capital account 
The values of R depict the multiple correlation coefficients 

accounts for an additional 50 per cent variance in the 
between the predictors (independent variables) and the 

outcome variable . Table 3(b) exposed the value of R2 for 
outcome (dependent variable). When only current account 

NSE output and for the current account its value is .596 
was used as predictor, a moderate correlation (r=.446) 

which shows  that current account accounts for 59.6 per cent 
between current account and BSE 100 was observed. The 

of variations in NSE and when the other  predictor capital 
next column gives the value of R2, which tells us a measure 

account is included as well, the value increases to .742 or 
of how much of the variability in the outcome (BSE 100) is 

74.2 percent which means that inclusion of capital account 
accounted for the predictors (Current Account, and Capital  

accounts for 14.6 percent of variation in NSE. 
Account). For the first model its value is .199 {Table 3(a)}, 
which means that current account accounts for 20 per cent 
variation in BSE 100. However, when the other  predictor 

Table 4(a) and 4(b) presents the ANOVA analysis; In case of than other  model. So, we can safely conclude that the model 
NSE the F-ratio for model 1 and 2 are 17.671 and 15.811  '1' is more significant in predicting the outcome variable 
respectively which are significant at 0.05 per cent level of (NSE). 
significant( p < 0.05), but the F- ratio for model '1' is more 

Volume 8 issue 6 December 2015



15



16

Volume 8 issue 6 December 2015


